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Reasoning Mega Quiz for RRB NTPC

Q1. Vineet travels 16 km towards west, turns right and travels another 12 km, and then takes two
successive left turns covering 8 km and 12 km in each turn respectively. Finally, he takes a right
turn and travels 10km further. How far is he now from his original position?

et ot $it s 16 Bl w=raT 8, 70 q=ar & s 12 et i am=m w3t 8, 5 & a1 A9 S1e qEar
& I TF TR gE FAL 8 fdY s 12 et it T 9 T €1 staq: a8 1€ A g=ar § < 10 BT
TS FIAT gl T T I FHF T A Fohvaet T g2

(a) 46 km

(b) 34 km

(c) 40 km

(d) 38 km

Q2. Select the odd word/letters/number/number pair from the given alternatives.
Ru o fawet & & faww srsa/avi/deaT 1 939 #<

(a) Veena/ #TomT

(b) Guitar/RreT®

(c) Violin/aTaTferT

(d) Flute/ar=<t

Q3. Select the related word/letters/number from the given alternatives.
U w10 Fedt § & aeataT asa/av/6edT T 999 FL
VERMIN :? :: ORDERS : ERSORD

(a) MNIVER

(b) MINERV

(c) MINVRE

IS CRASH COURSE
Q4. How many such digits will remain on their original position LiveBarcH A

in the number 495637281, if all the digits are arranged in .
descending order within the number? U LT' M ATE
&AT 495637281 # TH fFhaer 3iF (9" @ T I W, IR &7 * Complete Package
sfta asft siwt & g wF | Faterq o Srar |2 D
(a) None/qﬁ"g'ﬂ%:f RRB NTPC

Eb)) ;)negﬁ All SUBJECTS

(d) Three/d= Bilingual ' With eBook
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Q5. Pointing to a woman, a girl says, "She is mother of the only child of my father-in-law." How is
the woman related to the girl?

T ATGAT T A FATRT F §U, T ASH g | §, “qg A BIEGL-3A-A1 & UHATT T Al AT g1” AgAT A5h! &
BB ED s E

(a) Mother-in-law/H&Z-29-a1

(b) Granddaughter/dssiax

(c) Mother /9t

(d) Cousin/®fr=

Q6. If "#" means "subtraction”, "&" means "division"”, "@" means "addition” and "%" means
"multiplication”, then 315&3#9@4%6 =?

i “#” FT AT “-”, “&” HT AT “+”, “@” FT 7 “+” “O” FT A “x” g aT, 315&3#9@4%6 = ? & qTH AT
Y.

(a) 120

(b) 190

(c) 221

(d) 420

Q7. A piece of paper is folded and punched as shown below in the question figures. From the given
answer figures, indicate how it will appear when opened.

T FOTH & e Hl AT L 9 f3rgn a7 st & = zerian @ 8. = R @ B & 9 fie & |
ST 9X 9g e s T e
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Directions (8-9): Select the related word/letters/number from the given alternatives.

R 17 Reedt # & arEte asa/avi/aedT T 999 FL

Q8. LETTER : MFUUFS : : AHEAD : ?
(a) BIFBE
(b) BIBFE
(c) BFIBE
(d) BEFBE

Q9.12:48::104:?
(a) 415
(b) 420
(c) 480
(d) 416

Q10. In the following question, which one set of letters when sequentially placed at the gaps in the
given letter series shall complete it?

Fafafea wr &, F7 97 ster gy & T e Saer ¥ Rw e § w0 € § T@ 98 g@«r St Q@ v
&2

TER_TE_S_ER_

(a) TERT

(b) STTT

(c) STRS

(d) SRTS

Q11. Identify the diagram that best represents the relationship among the given classes.
S ARG FT IZAT Sl U 7T F971 F 1= Gaell w7 G 37537 WA Aiaa F3ar gl
Girl, Singer, Politician

A<hT, TIF, TS AT

(a)
&
O
(b)
C@ 6 Months Subscription
(<)
@ RRPRNTPNM
O
(d) S U P R E M E
@ All Railway Video Courses
O
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Q12. Select the related word/letters/number from the given alternatives.
Ru 1 fAwet § & gt ase/avifdeT F1 a9 w31

534:645::381:?

(a) 446

(b) 486

(c) 492

(d) 412

Q13. In a compass, west direction is shown as south. As per the compass, which direction should a
man go to, if he wishes to move towards the east?

FHTE H, qfE faem &t gferr & € § @ T g1 F¥9 & SqaT, I T AT S 9 6 A M0 g ar
Y e e ® agar IR w?

(a) North/3<¥

(b) South/aferoT

() East/tﬁ
(d) West/afera

Q14. Akhil is the maternal uncle of Rashmi. Rashmi is the daughter of Ramesh. How is Ramesh
related to Akhil?

srfrer <fow =1 araT &, <fw Wer it 3 &, W i ¥ v o e fRaa &2
(a) Brother-in-law/sia¥-3a-at

(b) Brother/eTs

(c) Father/faaT

(d) Cousin/Ffor

Q15. Identify the diagram that best represents the relationship among the given classes.
S ARG Tl IgAT1 Sl QU T J91 & ST el T G4 =31 VA A8 HLar gl

Primary colors, Red, Black
(a)

&
(b)
GtD
(c)

&

(d)

©o
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Directions (16-17): In the following question, there are two statements followed by two
conclusions I, II. Read the conclusions and decide which of the conclusions follow(s) the
statements.

Faferfea wor §, & Fuv R 1w § S 31 Ao 1 s 11 €. Aot i 98 oix fAehd o sz sarg fr flm &
e o &7 SIgar #3498

Q16. Statement:

No dog is a cat/ FI: HIE T Aol qa1 &
All hen are cats./FHT gt fafeeat
Some cap are hen./%® 4T (T &

Conclusions:

I. No hen is a dog.//Fe=d I: FIE 73T FT A5l &

IL. At least some cap are cats./Il. 5 & FF Fg 93T Aot g

(a) Only conclusion I is true/a< ey [ g7 g

(b) Neither conclusion I nor II is true/@ T few [ 3T 7 & 11 g %
(c) Only conclusion II is true/Fae =T 11 77 &

(d) Both conclusions I and II are true/a=1 At [ 3f¥ 11 97 &

Q17. Statements:

Some KP are CP./ %=+ %= KP, CP &

No CP is a XP./ #Is CP, XP &l &

All XP are GP./a+t XP, GP g

Conclusions:

I. At least some GP are CP./ A&t 1. %% | %7 £ GP, CP &

IL. No XP is a KP./Il. %< XP, KP 7= &

(a) Both conclusions I and II are true/ =T fAeFT [ 3f¥ 11 G %
(b) Only conclusion Il is true/ Fas e Il T g

(c) Only conclusion I is true/ Fae Aty [ T %

(d) Neither conclusion I nor Il is true/ T T Aswd [ s AT 1 TT &

Directions (18-19): Study the following information and answer the questions given below it.

Fraferer STt &1 sreaae &< iR = i 1 e & sae )

Eight friends i.e. B, D, G, I, H, C, E, and F are sitting around a circular
table and faces outside. B sits 2nd right of C. G is immediate neighbor of

C. F sits 2nd left of G. D sits opposite of B. G is not near to D.F sits 2nd S*&* 8\ dogr el
right of H. I is not near to H.

TS TEq AT B, D, G, I, H, C, E 3T F U A &aeT o AT AT qTEL 00
AT qT FT % 95 81 B, CH IMT AR AL T 92 93T gl G, C FT [evead / =
X T SR SR e SRR  Online Test Series
T ol 8. F, HE a0 A7 g3 &9 9¢ 93q71 21 [, H % e 781 21

25 Previous Year Papers
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Q18. Who among the following sits immediate right of E?
fefafad & & #19 E F 3 218 i< sar 82

(A H

(b) B

()G

(d)F

(e)C

Q19. Who sits opposite of I?
1% faadia & J3ar 872

(a) B

(b)H

(c) F

(d)D

(e)G

Q20. Who among the following sits 2nd left of G?
Rafiaa § 9 919 G F 99 & TE &&F )W E?

(a)C

(b) B

(c)D

(d) F

Q21. Find out the odd word/letters/number/number pair from the given alternatives.

U v Aot ¥ & AW ers3/avi/aeaT F1 99T w2
(a) MG
(b) QK
(c) VN
(d) UO

Q22. Select the related word/letters/number from the given alternatives.

T 17 et § & arEta aOse/av/EedT FT 999 HL
2:10::3:7?

(a) 30

(b) 25

(c)17

(d) 35
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Q23. Mohan, Ritika, Janvi, Priya and Riya are friends. Janvi runs faster than Ritika but slower than
Priya. Mohan is the slowest runner and Riya runs faster than Priya. Who runs the fastest among
the five?

Ared, ffder, STet, T s Rar aeg 31 st Rigsr & ow At B @ ded 31 gt q9a w
<r=ar g i RaT BT & I Asd g1 9141 § 999 I 19 =T 872

(a) Priya /fST

(b) Riya /F=T

(c) Ritika /=T

(d) Mohan/#HTg=

Q24. In a certain code language, "TERMITE" is written as "UDSL]JSF". How is "MINISTER" written in
that code language?

et A3 g T &, "TERMITE" &t "UDSLJSF" % &9 # for@r Srar §. S % Wit § "MINISTER" &9
T for@ sraem?

(a) NHOHSTFQ

(b) NHHOTSFQ

(c) NHOHTSFQ

(d) NHOHTSQF

Q25. In the following question, which one set of letters when sequentially placed at the gaps in the
given letter series shall complete it ?

Faforfa wat #, w17 97 o) ag & T qeR g F R ol § #0F 0 8 @ )1 @« r &
FLAT 8?2

(a) QCMCQ

(b) CQMCQ

(c) CQCMQ

(d) CQMQC

Q26. A girl is standing facing towards the south. She turns 135 degree in the anticlockwise
direction and then again takes a 180 degree turn in the
anticlockwise direction. Which direction is she facing now ? RRB NTPC 2019

T ASH SFR07 it AR H{T FF @1 gl a8 GaaAtarss faar # 135 PRIME PACKAGE
Rt gt @ &l e ey & ddiamtaarssr faem & 180 =fy et ]

7 s Py e 7 AT AR o 27 100 + TOTAL TESTS
(a) South-west/ Zfr-af2m 40 Full Length Mocks
30 Section Wise Tests
(b) South/ ZfErm 10 Previous Years papers
(c) South-east/ Zfaror 43 20 +Topic Wise tests
(d) West/ afzra eBooks
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Q27. 1dentify the diagram that best represents the relationship among the given classes.
S ARG Tl IgATH S T 77 971 F 1= Garell 1 qoa =37 qiaAiaeT F3ar g

College, University, Students

EIEEALCIECICRRCIED

(a)

OO
O

(b)

&

(c)

S

(d)

O

Q28. In the following question, two statements are given each followed by two conclusions I and II.
You have to consider the statement to be true even if they seem to be at variance from commonly
known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

= foT ™ w1 #, T Fuw Ru T g e A= 3 Aoy 16iR 1R 1w €. st R 1w 9=t i 9 A1
& W gl F FaSTq a2l ¥ {9 yfia gra & e s et waar § & aft R @ fAeest & @ s ar
T 7T FET T AGECOT FEAT B,

Statements:/ FI:

() All birds are trees./ 4T T&ft Ug g.

(1) Some trees are hens./ T U= qHAT &

Conclusion:/ fAeH:

(I) Some birds are hens./ F® T&t RAT &

(I) Some hens are trees./&® TRIAT UL &

(a) Conclusion I follows/fAeFT [ SITEI HTAT &

(b) Conclusion II follows/fAet 1 AT HTAT &

(c) Neither I nor II follows/ T T 1 T &I I1 SAHIT FLAT &

(d) Both I and II follows/I ¥ 11 IAT ATELO Fd 5
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Q29. Akram is the son of Shahid. Shahid's sister, Julie has a son Zeeshan and a daughter Yana. Zeba
is the sister of Zeeshan's mother. How is Yana related to Zeba?

STHTH QATIRR T AT B ATTRT T TG, S[EAT FT Teh ST FILIT S T FET AT g1 AT LT 6 q1 0l a8 gl
T ST F o T Hafaa 82

(a) Mother/ #T

(b) Granddaughter/IgSiex

(c) Sister / a5

(d) Niece/aTsfi/sTe st

Q30. If a mirror is placed on the line MN, then which of the answer figures is the right image of the
given figure?

I T@T MN I T F9v7 7@ 91, 97 Refefes § & $19 97 s9) B wite & a8 s gef?

(

AN 1A AN

b

(d)

TEST SERIES
Bilingual

RRBNTPC

7l

PREMIUM

100+ TOTAL TESTS

Validity : 12 Months

9 | www.bankersadda.com www.sscadda.com | www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/
https://store.adda247.com/product-testseries/2116/RRB-NTPC-Prime-2019-Online-Test-Series

